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wLNñU / SCIENCE

( ospLtU, CUYæ}xV nLxLÍqeU /Malayalam & English Versions)

yopU : 2½ oe]¨P¡ ] [ kqoLvi] oL¡ V̈V : 75

Time Allowed : 2½ Hours ] [Maximum Marks : 75

j]¡SÇw°¥: (1) S\Lh|¨asLô]Rs A\ÿa]pORa j]svLqU kq]SwLi]¨OW.
IRÍË]sOU SkLqLpÜWtORºË]¤ Da¢ SzL¥ yPÕ¡RRvyRr
Ar]p]¨OW.

(2) IuOfOvLjOU Aa]vqp]aOvLjOU WrOSÕL j}sSpL j]r¾]sOç
ox]oLNfU DkSpLY]¨OW . \]Nf°¥ vqàOvL¢ Rk¢y]¤
DkSpLY]¨LU.

Instructions : (1) Check the question paper for fairness of printing.  If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.
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WOr]ÕV : CT S\Lh|SkÕr]jV oPÐV nLY°¥ DºV.

Note : This question paper contains three sections.

nLYU & I / SECTION - I

(oL¡ V̈ : 15) / (Marks : 15)

WOr]ÕV : (i) IsæL 15 S\Lh|°¥¨OU D¾qRouOfOW. 15x1=15

(ii) NmL¨ã]¤ RWLaO¾]q]¨OÐvp]¤ j]ÐOU wq]pLp D¾qU
RfRqR´aO¾V IuOfOW.

Note : (i) Answer all the 15 questions.

(ii) Choose the correct answer from the alternatives given in the brackets.
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1. C¢yOs]Rj Bèp]\ÿ NkSoz¾]jL¤ NkpLyRÕaOÐ v|©]Wt]¤__________

BYVSjpNYÏ]SWLw°¥ jw]¨OÐO.

(B¤lL, m}ã, YLo, Rc¤ã)

In persons suffering from insulin - dependent diabetes, __________ the cells of pancreas
are degenerated.

(Alpha, Beta, Gamma, Delta)

2. ^j]\ÿ DaRj WO´]jOj¤WOÐ Bh|R¾ Nkf]SqLi WO¾]vpVkV JfLeV
__________.

(SkLt]SpL R\LŸOoqOÐVV, DPT, DPT &pOU SkLt]SpL R\LŸOoqOÐOU, BCG)

The first vaccine injected into a just born baby is _________.

(Oral polio, DPT, DPT and Oral polio, BCG)

3. Nkf]SqLi v|vòpOoLp] mÌRÕŸ AÍ@NyLv] NYÏ] __________.

(RRfSrLp]cVV, RRfoyVV, ANc}j¤, k}j]p¤)

The endocrine gland related to the immune system is __________.

(Thyroid, Thymus, Adrenal, Pineal)

4. ^s¾]¤ WOf]¡¾ v]¾]Rj Ao¡¾OSÒL¥ ^s¾Oç] kOrS¾àVV vqOÐ vu]
__________.

(By|qjVVNiU, Rs£]Ry¤, yPƒVVoqjVVNiU, rLc]¨]¤.)

If a water soaked seed is pressed, a small drop of water comes out through the
__________.

(Stomata, Lenticel, Micropyle, Radicle)

5. o]Na¤ vL¤vVV __________ j]ap]¤ WLeRÕaOÐO.

(vsR¾Br]¨]t]jOU vsR¾Rv¢Na]¨]t]jOU, CaR¾Br]¨]t]jOU CaR¾
Rv¢a]¨]t]jOU, vsR¾ Rv¢Na]¨]t]jOU w~LySWLwioj]¨OU, CaR¾
Rv¢Na]¨]t]jOU ozLioj]¨OU)

Mitral valve is found between __________.

(Right auricle and right ventricle, Left auricle and left ventricle, Right ventricle and
pulmonary artery,  Left ventricle and aorta)
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6. SoLSeLSNaLlp]¤ BzLqkhL¡À°Rt BY]qeU R\áOÐ yv]Swx
SvqOW¥  __________.

(zLSðLr]p, RRoS¨LRRry SvqV, kã]Õ]a]¨OÐ SvqVV, AkòLj}p SvqVV)

In monotropa the special type of root which absorbs nourishment is the __________.

(Haustoria, Mycorrhizal root, Clinging root, Adventitious root)

7. Aa]´VWPaOÐfOU, RkL°]¨]a¨OÐfOoLp vyVVfO¨Rt CT q}f]p]¤ j}¨U
R\áOÐO.__________.

(NkLgo]W j]¡vÿzeU, h~]f}p j]¡vÿzeU, fQf}p j]¡vÿzeU, NkLÍNkShw
j]¡vÿzeU.)

The sedimented and floating materials are removed by this treatment process.

(Primary treatment, Secondary treatment, Tertiary treatment, Peripheral treatment)

8. Bu¨a¤ oO°¤ v]hYVi¡ DkSpLY]¨OÐ vLfW°tORa o]è]foLeV
__________.

(z}s]pU & KLWVy]^¢, KLWVy]^¢ & RRjNa^¢, RRzNc^¢ & RRjNa^¢)

The mixture of gases used by deep-sea divers is __________.

(helium - oxygen, oxygen - nitrogen, hydrogen - nitrogen)

9. ARyã]WV AÛ¾]¤ v]jLY]q] Aa°]p]q]¨OÐO. RRfq]¤ Aa°]p]ŸOç
AÛoLeVV __________.

(sLWVVa]WVV AÛU, aL¡ŸLr]WVV AÛU, y]Na]WVV AÛU.)

Vinegar is present in acetic acid.  Curd contains __________ acid.

(Lactic acid, Tartaric acid, Citric acid)

10. IsæL WL¡me]W yUpO©°t]RspOU NkiLjZaWoLp KqOoPsWU_______
v¡«¾]¤ D¥RÕŸ]q]¨OÐO.

(14-LU, 15-LU, 16-LU)

An element which is an essential constituent of all organic compounds belongs to the
__________ group.

(14th group, 15th group, 16th group)



46832

11. __________ rmÿ¡ kLs]Rj DrWPŸOvL¢ DkSpLY]¨OÐO.

(IgSjL¥, IgSjLp]WVV AÛU)

__________ is used for coagulating rubber from latex.

(Ethanol, Ethanoic acid)

12.  __________ vRq kq]oLeoOç vñO¨Rt At¨L¢ DkSpLY]¨OÐ KqO
DkWqeoLeVV yVVNWPSY V̂V .

(0.1 cm, 0.01 cm, 0.1 mm, 0.01 mm)

Screw Gauge is an instrument used to measure the dimensions of very small objects
upto __________.

(0.1 cm, 0.01 cm, 0.1 mm, 0.01 mm)

13. BZP¡¹ oLã¾]R£ j]q V̈V fOs|oLp]q]¨OÐ nTf]W AtvVV __________ BWOÐO.

(v]òLkjU, f~qeU, msU, yVVkÎjU)

The physical quantity which is equal to the rate of change of momentum is __________.

(displacement, acceleration, force, impulse)

14. W]SsLvLŸVV&oe]¨P¡ Jf]R£ oLNfpLeVV  __________.

(RkLŸ¢x|¤ v|f|LyU, RRvh|Of w©], RRvh|OSfL¡²U, \L¡²VV)

Kilowatt-hour is the unit of __________.

(potential difference, electric power, electric energy, charge)

15. KqO RRvh|Of]iLq KqO SsLz Bs©]WvLz]p]¤WPa] WaÐOSkLWOSÒL¥
Af]jO \OãOU __________ yQì]¨OÐO.

(WLÍvspU, pLNÍ]W w©], Bs©]WiLq)

An electric current through a metallic conductor produces __________ around it.

(magnetic field, mechanical force, induced current)
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nLYU & II/SECTION - II

(oL¡ V̈ : 40)/(Marks : 40)

WOr]ÕV : JRfË]sOU CqOkfV S\Lh|°¥¨V D¾qRouOfOW. 20x2=40

Note : Answer any twenty questions.

16. kLqÒq| y~nLv°¥ v|f|yVf ^Lf]p]sOU ASf^Lf]p]¤ fRÐpOU oLãU
WLeOÐO.  fLRuRWLaO¾]ŸOçvp]sOç oLã°tORa SkRquOfOW.

(i) ojOx|qORa Cap]¤ W¹]R£ j]rU j}s, WrOÕV, fv]ŸOj]rU, k\ÿ IÐ]°Rj
v|f|LyRÕaOÐO. Cf]Rj __________ oLãU IÐO krpOÐO.

(ii) oOps]R£pOU BjpORapOU hÍj]q KÐOSkLRspsæ. Cf]Rj __________
oLãU IÐO krpOÐO.

The inheritable characters vary in different species and within the same species.  Name
the variation in the following cases.

(i) The eye colour among the human beings are varied as blue, black, brown, green
etc.  This is called as __________ variation.

(ii) The dentition in the rabbit and the elephant are not the same.  This is called as
__________ variation.

17. ^j]fW yLSËf]W v]h| IÐLRsÍVV ?

What is Genetic Engineering ?

18. fLRu fÐ]q]¨OÐvp]¤ j]ÐV SpL^|oLp S^Lc] f]q´aO¾V S\qOUka]
S\¡¨OW.

(oqOÐOW¥, CÌjU, ^}vLeO¨¥, kq]eLow©], RR^vLÛ°¥)

(i) Nkf]SqLi oqOÐV (ii) NkWQf]vLfWU

(iii) y]Na]WVV AÛU (iv) v]ãLo]jOW¥

Match the following by identifying the pair :

(medicines, fuel, microbes, metabolism, organic acids)

(i) Vaccine, (ii) Natural gas,

(iii) Citric acid, (iv) Vitamins
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19. oqLyVVoyOU W~Lx]SpL¡¨rOU oLUy|U WOrv]jLsOºLWOÐ SqLY°tLeVV. v}¡¾
vprOU v}°]p oOXvOU RWLºV oqLyVoyV W~Lx]SpL¡¨r]¤ j]ÐOU
v|f|LyRÕaOÐO. CT sƒe°¥ oOWt]¤ kr´]q]¨OÐ SqLY°¥¨Oç&
vpLSeL ? ARsæË]¤ wq]pLpv IuOfOW.
Marasmus and Kwashiorkar are both protein deficiency defects.  Marasmus differs
from Kwashiorkar in enlarged belly and swelling in the face.  Are these symptoms for
the above diseases correct ?  If not, correct it.

20. \]Nf°¥ kW¡¾] fÐ]ŸOç yP\jW¥ DkSpLY]\ÿV nLY°¥ AapLt&
RÕaO¾OW.
Copy the diagram and label the parts with the help of the clues given.

(i) Cf]Rj vQ¨pORa So¤nLY¾O WLeOÐ NYÏ] IÐO krpOÐO.
(ii) CfV A¥ScLð}SrL¦, SWL¡Ÿ]SyL¦ IÐ} qºO SzL¡SoLeOWRt

Nyv]Õ]¨OÐO.
(i) It is otherwise called supra renal gland.

(ii) It secretes two hormones, namely aldosterone and cortisone.

21. fLRu RWLaO¾]ŸOç \]NfR¾ vq\ÿV nLY°¥ AapLtRÕaO¾OW.
(i) IWVyp]¢ (ii) WOu¤o¡ÚU
Draw the given diagram and label the following parts.

(i) Exine (ii) Tube nucleus
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22. oqOnPo]p]¤ ^}v]¨OvL¢ SpL^]¨OÐ v]i¾]¤ KŸW°t]¤ WLeOÐ jLsV
AjOWPsj°¥ JRfsæLU ?

Mention any four adaptations seen in the camel so that it can live successfully in deserts.

23. S\qL¾f]Rj f]qR´aO¾VV IuOfOW.

(i) SYæLmOs]¢, RYæLRorsyVV, RRlNm]SjLR^¢, B¤mOo]¢

(ii) ospLaOW¥,  vs]p RWLÒOç R\Úq]pLaOW¥, Wqa], y}¤

Pick out the odd one out.

(i) globulin, glomerulus, fibrinogen, albumin

(ii) mountain goat, big horned sheep, grizzly bear, seal

24. kŸ]WkP¡¾]pL¨OW.

v]y¡²jLvpvU kOrUfçRÕaOÐfV v]y¡^|vñO¨¥

vQ¨W¥ pPr]¢ (oPNfU)

RRjNa^¢ Aa°]p 

v]y¡^|vñO¨tLp pPr]p, 

pPr]WV By]cV, NW]pLã]j]¢ 

oOfsLpv.

w~LySWLw°¥ j]w~LyvLpO __________

f~ V̈V __________ Ai]WoOç ^svOU sve°tOU

Complete the table given below :

Excretory organ Disposed as Excretory products

Kidneys Urine
Nitrogenous waste products - Urea, 

Uric acid, Creatinine etc.

Lungs Exhaled/Expired air           __________  .

Skin           __________  . Excess water and salts
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25. fÐ]q]¨OÐ \]NfU j]q}ƒ]¨OW.

(i) \]NfU A &p]sOU, B &p]sOU WLeOÐ \sj¾]Rj WOr]¨OW.

(ii) INkWLqU CT \sj°¥ RfLŸLvLa](RRoSoLy)pORa \sj¾]¤ j]ÐOU
v|f|LyRÕaOÐO ?

Observe the diagram.

(i) Mention the type of movements shown in figure A and B.

(ii) How does this movement differ from the movement of mimosa ?

26. kµyLq B¤¨SzLtLp] oLãRÕaOÐO.

(i) CT NkñLvjp]¤ JfVV NkNW]ppLeV ja¨OÐfV ?

(ii) JfO yPƒÜ ^}v]pLeV D¥RÕŸ]ŸOçfVV ?
Sugar solution is converted into alcohol.

(i) In the above reaction what kind of process takes place ?

(ii) Which micro - organism is involved ?

27. fLRu fÐ]ŸOçvRp SpL^]Õ]¨OW.

A   B

(a) ASÚLSeLRas]WVV (i) v]qW¥

(b) pPr]SpLRas]WVV (ii) oÃ|U

(c) pPr]SWLRas]WVV (iii) yñj]W¥

(d) RjNl}c]p (iv) kƒ]W¥
Match the following :

A      B

(a) Ammonotelic (i) annelids

(b) Ureotelic (ii) fish

(c) Uricotelic (iii) mammal

(d) Nephridia (iv) birds



9 6832

[ Turn over

28. fÐ]ŸOç ^}v^Ls°Rt wq]pLp SNaLl]WV j]sWt]¤ nƒe wQUXs
\]Nf}Wq]¨OW.

(kLÒV, kOsæVV, WuOW¢, fvt, kO¤\ÿLa].)

Depict a food chain by placing the following organisms in the correct trophic levels.

(Snake, Grass, Eagle, Frog, Grasshopper)

29. YfLYf¾]jOç v]v]i NhLvW RR^v CÌj°¥ JRfLR¨pLeV ?
(JRfË]sOU jLRs¹U)

What are the various liquid biofuels for transportation ?  (Any four)

30. jv}Wqe SNyLfôOWRtpOU, jv}WqeU R\áL¢ Wu]pL¾ SNyLfôOWRtpOU
S\qOUka] S\¡¨OW.

SNyLfôOW¥ A B C

jv}Wq]¨LvOÐv W¤¨q] WLãVV RkSNaLt]pU

jv}Wq]¨L¢kãL¾v RRzNc^¢ NkWQf] vLfWU yTSqL¡²U

Match the suitable renewable and non-renewable sources.

Sources A B C

Renewable Coal Wind Petroleum

Non - Renewable Hydrogen Natural gas Solar energy

31. w]sL^Lf CÌj°¥ IÐfV ks o]sæ|¢ v¡x°¥¨V oO¢kV nPo]¨a]p]¤
Aa]´OWPa]p yy| ^ÍO khL¡À°tORa v]ZajlsoLp] DºLpfLeV.
JRfË]sOU qºVV w]sL^Lf CÌj°tORa SkRquOfOW.

Fossil fuels are formed by decomposition of biomass buried under the earth over millions
of years ago.  Name any two fossil fuels.

32. NmTe]p¢ \sjU IÐLRsÍVV ?

What is Brownian movement ?
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33. 20g yLiLqe DÕV 50g ^s¾]¤ sp]Õ]\ÿ]q]¨OÐO. nLqwfoLj¾]Rj
ByVVkhoL¨] sLpj]pORa YLdf WºOk]a]¨OW.
Find the concentration of solution in terms of weight percent if 20 g of common salt is
dissolved in 50 g of water.

34. 12.046×1022 SWLÕ¡ AeO¨t]sOç SoLtOWtORa I¹U We¨L¨OW.
Calculate the number of moles in 12.046×1022 atoms of copper.

35. A, B IÐ} qºO m}¨rOWt]¤ qºVV fqU AÛ°¥ yPƒ]\ÿ]q]¨OÐO. A &p]sOç
AÛU ^s¾]¤ S\¡¨OSÒL¥ nLY]WoLp] oLNfSo v]Za]¨OÐOçO. IÐL¤ B
&p]Rs AÛU ^s¾]¤ kP¡¹oLpOU v]Za]¨OÐO

(i) A, B IÐ} AÛ°t]¤ v\ÿVV v}q|oOç AÛSofLeVV ? v}q|U WOr´ AÛU
JfLeVV ?

(ii) v}q|U WOr´ AÛ¾]jOU v}q|U WPa]p AÛ¾]jOU KqO DhLzqeU v}fU
j¤WOW.

Two acids ‘A’ and ‘B’ were kept in beakers.  Acid ‘A’ undergoes partial dissociation in
water, whereas acid ‘B’ undergoes complete dissociation in water.

(i) Of the two acids ‘A’ and ‘B’.  Which is weak acid and which is strong acid ?

(ii) Give one example for weak acid and strong acid.

36. KãpLRj kOrR¾aO¨OW.

(i) ARR^v AÛ°¥ : HCl, HNO
3
, H

2
SO

4
, HCOOH

(ii) ƒLqy~nLvoOçfVV : q©U, Sm¨]UYV SyLcL, v]j]Y¡, YL¡z]WLvw|&
°¥¨OkSpLY]¨OÐ ASÚLe]p.

Pick the odd one out :

(i) Inorganic acids : HCl, HNO
3
, H

2
SO

4
, HCOOH

(ii) Basic Nature :  Blood, Baking Soda, Vinegar, Household ammonia

37. fLRu krpOÐvp]¤ RfãORºË]¤ f]qO¾OW.

(i) qºLoR¾ Bv¡¾jWLsU Nzy~oLp KqO Bv¡¾jWLsoLeV. Cf]¤
qºVV oPsW°¥ oLNfU Aa°]p]q]¨OÐO.

(ii) 18&oR¾ v¡«¾]sOç oPsW°Rt zLRsL^¢ WOaOUmU IÐO krpOÐO.
Correct the mistakes, if any in the following statement.

(i) Second period is a short period.  It contains only two elements.

(ii) Group 18 elements are called Halogen family.
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38. j]YojU : vQ¾]pL¨Lf]qOÐL¤ KqO k\ÿÕLt] R\ÒOkLNf¾]¤
WLeRÕaOÐO.

WLqeU : Cf]jV WLqeU Smy]WV SWLÕ¡  WL¡mSeã]R£ kLt]
qPkRÕaOÐfLeV.

(a) j]YojvOU WLqevOU wq]pOU Av kqyVVkqU D\]fvOoLeVV.
(b) j]YojU wq]pLeVV IÐL¤ WLqeU j]Yoj¾]jVV D\]fosæ.
Assertion :   A greenish layer appears on copper vessels, if left uncleaned.
Reason :   It is due to the formation of a layer of basic copper carbonate.
(a) Assertion and reason are correct and relevant to each other.
(b) Assertion is true but reason is not relevant to the assertion.

39. A\ÿLrOW¥ SWaOWPaLRf yPƒ]¨OÐf]jLp] v|LkWoLp] DkSpLY]¨OÐ KqO
WL¡me]W yUpO©oLp (A) &pORa fÓLNfLyPNfU C

2
H

4
O

2  
IÐLeV. CT

yUpO©U IgSjLtOoLp] Nkf]Nkv¡¾]¨OSÒL¥ jsæ yOYÌoOç KqO
yUpO©U  (B) DºLWOÐO.
(i)  A, B IÐ]vRp f]q]\ÿr]pOW.
(ii) CT NkNW]ppORa SkqV krpOW. mÌRÕŸ qLyyo}WqeU IuOfOW.
An organic compound (A) is widely used as a preservative in pickle and has a molecular
formula C

2
H

4
O

2
.  This compound reacts with ethanol to form a sweet smelling

compound (B).
(i) Identify the compounds A and B.
(ii) Name the process and write the corresponding chemical equation.

40. j]YojU (A) : vtRq f}NvoLp WLÍ]W o¼sR¾ ojOx|wq}q¾]¤
Wa¾]v]ŸV BÍq]W Avpv°tORa ØL¢ IaO¨L¢
DkSpLY]¨OÐO. (WLÍ]W AjOjLh \]Nf°¥& (MRI))

WLqeU (R) : vtRq f}NvoLp WLÍ]W o¼sR¾ DkSpLY]¨OÐfOoPsU
vtRq v|©oLp \]Nf°¥ IaO¨OvL¢ yLi]¨OÐO.

(a) (A) RfãOU (R) wq]pOoLeV
(b) (A) wq]pOU (R) RfãOoLeVV
(c) (A), (R) Cv qºOU RfãLeVV
(d) (A) wq]pLeV,  (A)&Rp (R)AjOWPs]¨OWpOU R\áOÐO.
Assertion (A) : MRI is used to scan the inner organs of human body by penetrating

very intense magnetic field.
Reason (R)     : By use of very intense magnetic field, very high resolution images can

be obtained.
(a) (A) is incorrect and (R) is correct.
(b) (A) is correct and (R) is incorrect.
(c) Both (A) and (R) are incorrect.
(d) (A) is correct and (R) supports (A).
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41. 1 kg Nhv|oLjoOç KqO vñO 20m. Dpq¾]¤j]ÐOU fLSu¨VV CaOÐO. frp]¤
oOŸ]pf]jV SwxU ASf SvY¾]¤ f]q]\ÿOpqOÐO. BZP¡e¾]R£ oLãU
WLeOW. (g =10 m/s2 IRÐaO¨OW.)

An object of mass 1 kg is dropped from a height of 20 m.  It hits the ground and
rebounds with the same speed.  Find the change in momentum

(Take g = 10 m/s2)

42. S\qOUka] S\¡¨OW.

nLY°¥ \]zVVjU

(a) RRvh|Of Ry¤ (i)

(b) kæYVV W} AgvL y~]\ÿV Aa´fVV (ii)

(c) WÒ]WtORa yUSpL^jnLYU (iii) 

(d) R Nkf]SqLioOç Nkf]SqLi SkaWU (iv)

Match the following :

COMPONENTS SYMBOLS

(a) An electric cell (i)

(b) Plug key (or) switch (closed) (ii)

(c) A wire joint (iii) 

(d) A resistor of resistance R (iv)
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43. kPq]Õ]¨OW.

(i) RkLŸ¢x|¤ v|f|LyU : SvL¥ŸVV o}ã¡ IË]¤ RRvh|Of] : __________

(ii) w©]j]spU : DT¡²¾]R£ jv}Wqe SNyLfôV IË]¤ yTSqL¡²U :
__________

Fill in the blanks :

(i) Potential difference : Voltmeter ; then Current : ___________

(ii) Hydro power plant : Conventional source of energy ; then Solar energy :
__________

44. yoONhfLSkL¡²R¾kã] IuOfOW.

Write about ocean thermal energy.

45. fLRu WLe]\ÿ]ŸOç qwVo] \]NfU I°RjpLeV KqO Avfs h¡ÕeU
Nkf]m]UmoOºL¨OÐRfÐV WLe]¨OÐO.

(a) Af]sOç RfãVV WºOk]a]\ÿVV wq]pLp qwVVo] \]NfU vqàOW.

(b) j]°tORa f]qO¾sOW¥¨V j|Lp}WqeU IuOfOW.

The ray diagram shown below is introduced to show how a concave mirror forms the
image of an object.

(a) Identify the mistake and draw the correct ray diagram.

(b) Write the justifications for your corrections.
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46. lVVto]°]R£ vsfORRWj]poU. – v]vq]¨OW.

Define Fleming’s right hand rule.

47. Rs¢y]s]qOÐVV 25 Ry.o} AWRspOç vñO Rs¢y]R£ kOrW]¤ 20 Ry.o} AWRs
Nkf]m]UmR¾ J¡RÕaO¾OÐORvË]¤  Rs¢y]R£ SlL¨yV hPqU
INfpLWOÐO ?

If an object is placed 25 cm in front of the converging lens forms an image 20 cm
behind the lens, then what is the focal length of the lens ?

nLYU & III / SECTION - III

(oL¡ V̈ : 20) / (Marks : 20)

WOr]ÕVV : (i) KLSqL v]nLY¾]¤ j]ÐOU KqO S\Lh|U f]qR´aO¾V JRfË]sOU
jLsVV S\Lh|°¥ V̈V D¾qRouOfOW.

(ii) KLSqL S\Lh|¾]jOU AµVV oL¡ V̈ v}fU.

(iii) Bvw|oLp]a¾V \]Nf°¥ vqàOW.

Note : (i) Answer any four questions by choosing one question from each part.

(ii) Each question carries five marks.

(iii) Draw diagrams wherever necessary.

v]nLYU & I/PART - I

48. j]°tORa kq]yq¾VV osÒj] kq¨OÐO.

(a) j]°tORa kq]yq¾Oç Ai]WLq]W¥¨VV IÍO j]¡SÇwoLeVV j]°¥¨V
j¤WLjOçfV ?

(b) osÒj]pORa wq]pLp sƒe°Rt RfqR´aO¾VV IuOfOW.

There is a widespread outbreak of malaria in your area.

(a) Suggest some controlling measures to the local authorities concerned.

(b) Write the symptoms for malaria.

4x5=20
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49. (a) fLRu fÐ]q]¨OÐ vL¨OW¥ DkSpLY]\ÿVV X¼]W kP¡¾]pL¨OW.

(jRŸsæV, kpLoLã¡, Aq¨SjLp]cVyVfqU, Roj]µyOW¥, c|PrLoLã¡),

SWNÎ jLc}v|vòRp BvqeU R\pVVfVV oPÐVV yUqƒe Bvqe°¥

WLeOÐO. CvRp      (1)     IÐO krpOÐO. WkLs¾]jOU      (2)      fLRu

WLeOÐfOU oyVf]xV¨¾]R£ JãvOU kOrSo WLeOÐfOoLp CqŸ]\ÿ

WŸ]pOç Bvqe¾]jV      (3)     IÐO krpOÐO. SsLsoLp q©

yUNWoeoOç oÈ|Lvqe¾]jV      (4)     IÐO krpOÐO. vtRq

WŸ]WOr´ oQhOvLp BÍqLvqeU oyVf]xV¨¾]R£pOU

yOxOoVjpORapOU Dkq]fs¾]¤ WLeOÐO. Cf]Rj      (5)     

IÐOkrpOÐO.

(b) JRfË]sOU AµOfq¾]sOç jLc}SWLw°tORa SkRquOfOW.

(a) Use words from the given list to complete the following paragraph.

(Vertebral column, Piamater, Arachnoid membrane, Meninges, Duramater)

The central nervous system is covered by three protective coverings collectively

called      (1)     .  The outermost cover lying below the skull and      (2)      is double

thick and is called      (3)     .  The middle covering is thin and vascularised and is

called      (4)     . The innermost cover is a very thin delicate membrane and is
closely stretched over the outer surface of Brain and Spinal Cord and is called
     (5)     .

(b)  Name any 5 types of nerve cells.

v]nLYU & II/PART - II

50. nUY]pOç KqO \]Nf¾]R£ yzLpS¾LRa h~]m}^kNfyy|v]¾]R£ Zaj
v]vq]¨OW.

Describe the structure of a dicot seed with a neat diagram.

51. (a) zq]f qyfNÍU IÐLRsÍVV ?

(b) zq]f qyfNÍ NkNW]pvu] nLv]p]¤ DfVkLh]Õ]¨RÕaLvOÐ  DfVVkÐ&
°RtÕã] IuOfOW.

(a) What is Green Chemistry ?

(b) Write the future products of Green Chemistry.
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v]nLYU & III/PART - III

52. AeOv]Rj¨Or]\ÿV KqO v|©oLp \]NfU j¤WOÐf]jLp] fqUYyË¤kU,
Aj]é]ff~¾]R£ ff~U oãV Af|LiOj]W WºOk]aO¾°¥ IÐ]vRpsæLU
fRÐ BiOj]W AeOy]ÈLÍU y~}Wq]\ÿ]ŸOºV. BiOj]W AeOy]ÈLÍ¾]R£
Rvt]RÕaO¾sOW¥ IRÍsæLoLReÐVV NkñLv]¨OW.
Modern atomic theory takes up the wave concept, principle of uncertainty and other
latest discoveries to give a clear cut picture about an atom.  State the findings of modern
atomic theory.

53. w¡¨qÕLv]¤ (Molasses) j]ÐV IgSjL¥ DfVkLh]Õ]¨OÐf]RjÕã] v]vq]¨OW.
Explain the manufacturing of Ethanol from Molasses.

v]nLYU & IV/PART - IV

54. (a) j|PŸR£ KÐLoR¾ \sj j]poU ms¾]RjLqO kq]oLe j]¡vÿ\jU
j¤WOÐO. j|Lp}Wq]¨OW.

(b) \]Nf°¥ Nkf]j]i}Wq]¨OÐfV 10 kg, 15 kg v}fU Nhv|oLjvOU 10 ms−1, 5

ms−1 v}fU BqUnNkSvYvOoOç qºO vyVfO¨tLeV. Av kqyVkqU
WPŸ]oOŸOÐO. WPŸ]oOŸs]jOSwxU Av 4 ms−1, 9 ms−1 NkSvYS¾LRa
\s]¨OÐO. WPŸ]oOŸs]R£ yopU 2 Ry¨£LeVV. F

1 
DU, F

2
 DU WºOk]a]¨OW.

(a) Newton’s first law of motion gives a qualitative definition of force.  Justify.
(b) The figure represents two bodies of masses 10 kg and 15 kg, moving with an

initial velocity of 10 ms−1 and 5 ms−1 respectively.  They collide with each other.
After collision, they move with velocities 4 ms−1 and 9 ms−1 respectively.  The
time of collision is 2 s.  Now calculate F

1
 and F

2
.

55. WLuV\p]Rs j|PjfWRt NkñLv]\ÿV v]vq]¨OW. CT j|PjfWRt I°Rj
kq]zq]¨LU ?
State and explain the defects of Vision.  How can these defects be rectified ?
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